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QUESTION 1

Your environment currently has a 12-node NetApp cluster serving iSCSI. You need to add at least four more nodes to
serve FC to your environment.

In this scenario, what should you do?

A. You can safely add up to 4 more storage controllers in the current cluster
B. You can safely add up to 6 more storage controllers in the current cluster
C. You must create a new cluster with the new storage controllers

D. You can safely add up to 12 more storage controllers in the current cluster

Correct Answer: A

QUESTION 2

You are sizing a FlexPod Virtual Desktop solution for a customer with 500 virtual desktops in a shared Remote Desktop
Services (RDS) topology.

In this scenario, which Cisco best practice should you use?

A. You should avoid placing more than 20 users per physical host

B. You should avoid over-committing physical CPU resources for virtual machines
C. You should avoid changing the virtual host disk queue depth

D. You should avoid multiple vCPUs per individual virtual machine

Correct Answer: B

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/itechpaper/
View51_on_FlexPod_Design_Guide.pdf

QUESTION 3

A customer is performing a server refresh of their FlexPod solution to accommodate business growth. The customer is
interested in using Cisco C-Series servers, and supporting multiple 40 Gbps link to each server, upgrading from the
existing 10 Gbps links.

Which two VICs support these requirements? (Choose two.)

A. Cisco UCS 1480 VIC

B. Cisco UCS 1497 VIC
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C. Cisco UCS 1495 VIC
D. Cisco UCS 1440 VIC
Correct Answer: AD

Reference: https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/UCS_CVDs/
flexpod_sap_ucsm40_fcsan_design.html

QUESTION 4

You have taken over management of an existing FlexPod system as part of a new job role. You want to find details of
existing support and service contracts available for the system.

Which two resources would you use to find this information? (Choose two.)
A. NetApp Interoperability Matrix Tool

B. Cisco Device Coverage Checker Tool

C. NetApp Support website

D. FlexPod.com website

Correct Answer: AC

QUESTION 5

Which three cables are allowed to be used between a NetApp cluster node and a Nexus switch for use with a port
channel? (Choose three.)

A. seven meter Active Optical Cable (AOC)
B. five meter OM4 fiber optic cable

C. seven meter passive Twinax cable

D. five meter passive Twinax cable

E. seven meter OM4 fiber optic cable

Correct Answer: ABD
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